أ.إسمهان يوسف                                                                                               "  ريض 113 "
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	 1)  1 2 أ
    

    =   1       0      7     12                    
        0       1      9      8 
    = 

           7     12                    

           9      8
 ،  أ  1 2
    
   =   7      12     1       0                        
        9      8       0       1      
    = 

           7     12                    

           9      8

 2)  1 3    ب
    

    =   1      0    0    5    3     8                    
         0     1     0    7   -4    6 

         0     0     1    2    1    4
 = 

          5    3    8                    

          7   -4    6 

          2    1    4

 ،  ب  1 3

    =   5    3     8    1      0    0                    
         7   -4    6     0     1     0    
         2    1    4     0     0     1    
 = 

          5    3    8                    

          7   -4    6 

          2    1    4

   
	 3)  1 3    أ   = لا يمكن لإختلاف الرتب    
 ،  أ  1 3

    =   2     5     3   1      0    0                    
         -1    0     6   0     1    0    

                            0     0    1    
 = 

         2     5     3  

        -1    0     6      


4)  أ  ب  

    =   3    -1    6    5      0    0                    
         4     0    -2   0     5     0    

         7     5     1   0     0     5    

  = 5  3    -1    6    1      0    0                    

         4     0    -2   0     1     0    

         7     5     1   0     0     1    


  = 5  3    -1    6   

         4     0    -2   

         7     5     1   

   

5)  أ + ب  

    =   7     3     6      3     1   -4                    
         3    10    4  +  1     0   - 1

         6     4     5     -4    -1    5

  =     10    4    2
         4     10   3
         2      3  10    مصفوفة متماثلة
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	6)  أ + أ /  

    =   1   -7    -4       1     5    6
         5     3     8  +  -7    3     2

         6     2     9      -4    8    9

   
   =     2    -2    2
         -2    6   10

          2   10   18    مصفوفة متماثلة
،  أ  ×  أ /  

    =   1   -7    -4    1     5    6

         5     3     8   -7    3     2

         6     2     9   -4    8    9

   
   =     66     - 48      -44

        - 48       98       108

        - 44       108     121  مصفوفة متماثلة

6) أثبت أن : (  أ + أ /  )2 =  4 1 3
           = الطرف الأيمن

 أ + أ /   =   1   -5    -4       1     5   4
               5     1     7  +  -5     1  -7
               4    -7     1      -4    7    1
   
          =   2     0    0
               0     2    0
               0     0    2     

(  أ + أ /  )2 = 

                    2     0    0     2     0    0

                    0     2    0     0     2    0

                    0     0    2     0     0    2     
   
	 

      4     0    0

=    0     4    0

      0     0    4    
      1     0    0

= 4 0     1    0

      0     0    1    

= 4 1 3    

= الطرف الأيسر
8) أولأً :  أ 2 = 4 أ
   = الطرف الأيمن
    

   =   1       1     1      1
        3      3      3      3
   = 
        4       4

        12    12            
  
 =4   1       1

        3       3  
   = الطرف الأيسر

، ب 2 = 4 ب
   = الطرف الأيمن
    

   =   3      -1     3     -1

       -3      1     -3     1
   = 
         12   -4
       - 12    4            
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 =4    3     -1

        -3      1              
   = الطرف الأيسر
ثانياً :  أ 2 + ب2 = 16 1 2
   = الطرف الأيمن
   
        4       4         12   -4

   =   12     12  +  - 12    4                       
  
   =    16     0

          0     16 

 =16  1      0

         0      1 
 = 16 1 2   
= الطرف الأيسر
 ،  أ 2  ب2 =   0 2
= الطرف الأيمن
   
        4       4      12   -4

   =   12     12  - 12    4                       


   =     28- 28             -16+16 
         144-144          - 28+ 28

  
  =     0      0

         0      0 
 =   0 2   

= الطرف الأيسر
(                                    (       

	


